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Chel: FAZIIIBAIE R (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
geiiunsa 349,259 371,064 A 21,805
FAED B2 B B Y A5 326,803 345,558 A 18,755
SEEIIIBAIEXA 140,495 159,653 A 19,158
HA I M AALS 92,455 111,260 A 18,805
201 Let24dy] 44,820 47,525 A2,705
01 At 2teltl 39,045 39,455 A410
Oflger=&Hl] 33,545
OEXo2d TA7Y 50,000& = 10&A 500
O & AKX M & 27,0003 853l 2,295
O&JINME AXZ4AH 100,000& * 63l 600
O &0t 2,000& = 2,7000H 5,400
OsURAXFTY 10,000& * 45074 4,500
OSXNPL(EHE) 50,000& = 20¢A 1,000
O FU(EXEE) 15,000& » 200 3,000
O30letA FU(ZHE) 4,500,0008 * 14! 4,500
OEJIEZHE BT 7Y 1,700& = 1,50004 2,550
OGS MA - HOf AR ¢
100,000& * 128 1,200
(ORNE=F = Fol EEy= 200,000& * 33 600
O EJEIINE 20 HE =2
150,000,000& * 2/100 3,000
OHHESE =2 500,000&  3A 1,500
O HiHgs = 5,000& = 1803l 900
OHHESEHN =2 500,000& = 3A 1,500
Opos(EHOH)AIAE BIDE 2tEX
10,000& * 504 500
Ol3l] 2,800
O JtAJt0tad ZEHI
7,000 = 421 = 100 2,800
Olgxz] 2,700
OHERY HHAXZ 2,700
o 24| (2m) 450,000& * 10H » 2 900
o BEZ(158) 450,000& = 208 » 2 1,800
02 =224l 5,775 8,070 A 2,295
O[AIE &8l RXib8l] 5,775
OdJl=dl =cltl 100,000& * 9K 900
O Jt0t | X2eldl 2,855
o JtA DOt 285,000& « 2CH 570
o &ZDt0t 285,000& = 13l 285
o &J|Jt0t 2,000,000& * 13/ 2,000
OJIAH4 sX2eldl 160,000& * 2& 320
OJilt 5 BEEAUSE ¢ 43,0003  20kg 860
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O ED[EH&2/AIAE X 22l
70,000& « 12& 840
202 o4dl 1,800 3,000 A 1,200
01 = LH o4 1l 1,800 3,000 21,200
OSJI AR E ZAFH I
120,000& = 521 = 33| 1,800
206 T 2 bl 25,835 25,835 0
01 =8l 25,835 25,835 0
Oxd8 PG Y 4,000& = 200m = 12& 9,600
OJAANE HE 7¢ 8,935,000& * 14 8,935
Ossdlz #¢ 3,000& = 1,000kg 3,000
oss(al?) 7¢ 111,000& * 10& 1,110
OZJIHEE+ 7 20,000& = 274 540
oxs 2+ ¢ 100,000& * 65 = 13l 600
OZFE(ZJ2g) #¢ 8,000  225m 1,800
O3 & HE+12¢ 50,000& * 58 250
401 Al HI YL =2 Tl 20,000 30,000 10,000
01 A& tl 20,000 30,000 A 10,000
OYYTI| 4BNLT &3
20,000,000& = 14 20,000
FAIHANEER 48,040 48,393 A 353
201 2yt 2 Y| 37,620 36,533 1,087
01 At 22l 11,990 12,600 A610
Oflger=&Hl] 11,990
OXMAIA ZHS(LED) 72 WAl 9,990
o EHREXH 270,000& = 374 9,990
oZgxHs ¢ 200,000 = 104 2,000
02 22224l 3,290 1,563 1,727
o222 ¥ HMAl 1,630
02013¢ Jlald RE= &80 1,630
o ZLH 290& * 3,0000H 870
o Z2(SII) 1,900& * 4000H 760
O[AM&&Hl S X4l 1,660
O&AA HEZHEH SHZ WA
530,000& * 2HA * 13 1,060
OXAA YEZZHH MA
200,000& * 3MA + 13 600
03 &AL Z I 22,340 22,370 A30
020144 D12 A 16,950
OHANES 10,000& = 9000H * 12 9,000
OXZEEE 2,500,000& * 13l 2,500
OMeal ZH M= H  500,000& * 14 500
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OxX0& 1,000& * 9000K * 13| 900
[OR:/ 1% 50,000& = 100H * 13 500
OBX AL HZ 150,000& * 10JH 1,500
O&LYmMYE 100,000& = 100H * 13 1,000
O8=+9 MA 70,000 = 1500 = 13 1,050
ogdd= g242) 84 ME 5,390
OZUZAAE 1,600
o ZA2(JIER) 200,000& = 8H = 13 1,600
OSHME 2 AAE 720
0 BEAMBR(IZR)
40,0003 * 6Y x 33 720
ocEs 1,400& = 1,0000H 1,400
os+8 Mz 70,000& * 60K 420
OEIIHE 2287
250,000& * 5= * 13 1,250
202 04| 2,400 3,600 A 1,200
01 2L Y| 2,400 3,600 A 1,200
OZJIg8 0l 120,000 * 591 x 43| 2,400
206 M = Hl 1,000 1,000 0
01 X2 Hl 1,000 1,000 0
OREEEXC2 237 10,0002 * 1004 1,000
301 Bt A= 7,020 7,260 N 240
07 2B =H 0| 7,020 7,260 A 240
02013 JI1&H& 28l == 0| 5,100
O =ty 150,000& = 109! * 13| 1,500
o4& Hl 40,000 * 409 = 13 1,600
O nEHl 200,000& * 102! = 13 2,000
Oge g g dIME A8 =30l 1,920
O =gty 100,000& * 1221 % 1g] 1,200
O Tl &JF Al
20,000& = 1201 x 34 = 13 720
COgE2 L SHNMAS 229 186,308 185,905 403
SHEAIZ 22H 46,080 19,260 26,820
201 et | 7,260 7,260 0
01 A2 2218l 3,000 7,260 4,260
Olgs+gY] 3,000
O30EAZ MAIHIS 500,000& * 43| 2,000
O30W&AZ X228l 1,000,000& * 14 1,000
02 352494l 4,260 0 4,260
Ol2222 % HMA] 4,260
O&IIANESE 150,000& * 128 1,800
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101 @124l 47,591 72,233 A 24,642
04 JIZHHZ2Z2XNSE+ 47,591 72,233 N 24,642
OPDIZHIZEXNE =] 47,591
o2 #AFs o
0,140 » 1Ql » 249 9,995
oZcl2dg Ry 40,1403 * 121 » 249 9,995
OMZERY oz
40,140 = 501 » 34,192 6,862
OZERE 22Y 40,140 = 491 = 28.49¢Y 4,575
OYUNEE olge
150,000& * 1Q1 » 20 * 23] 6,000
OJIZtMZ22H4UE8 = 210,370& » 123 2,525
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40,1403 = 291 = 523 4,175
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OJIZHI2 22X EE+Y
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01 At 22l 35,045 17,696 17,349
Oflger=&Hl] 33,565
oOZJlgEd 88 HEX 5002 * 4,5000H 2,250
OZJaE el2x MH
1,000& * 1,35004 1,350
oOgdTI 82 ML 5,000& =+ 1,3500H 6,750
oSt st&X P 50,000 » 40%FA 2,000
o= HAE MEM € AE2F 2
150,000& * 128 1,800
OMBEI +LMDF B4 HA
70,000& = 1504 = 13 1,050
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oMl 2E Y 7502 * 70004 525
Olm=y] 1,000
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9,000,000& * 14! 9,000
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OEHEH 2 AZH|
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O[xtg. detdl] 3,192
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1,759.5& = 1004 * 128 2,112
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